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Unit 2 Quiz Review:
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16. Negative eight times a number is — 144. Write the equation and solve it.
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17. The quotient of a@n’eﬁ and 18 is 198. Write the equation and solve it.
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18. @mber mcrigsed by — 67 is — 967. Write the equation and solve it.
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19, Th%ae less tt than four ti t-:rzes a nbumber is 99. Write the equation and solve it.
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20. Arectangle hasa Ienéth of 3x - 5 and a width of x. The total@@ls 70 feet. Write an equation

and solve for x. Find the length and width: _H
Equation: %Q S &" )C '1l‘ 5\(\’,”\6’ X 70
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